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Let	
  u	
  =	
  <6,	
  -­‐3>	
  and	
  v	
  =	
  <–14,	
  8>.	
  	
  Find	
  
b)	
  –1/2	
  v	
  	
  	
  



MulEplying	
  a	
  vector	
  by	
  a	
  scalar	
  is	
  
mulEplying	
  the	
  components	
  by	
  the	
  

scalar	
  
•  MulEply	
  the	
  horizontal	
  component	
  by	
  -­‐½	
  	
  

-­‐½	
  va	
  =	
  -­‐½	
  •	
  -­‐14	
  =	
  7	
  

•  MulEply	
  the	
  verEcal	
  component	
  by	
  -­‐½	
  	
  
-­‐½	
  vb	
  =	
  -­‐½	
  •	
  8	
  =	
  -­‐4	
  



Thus,	
  -­‐½	
  v	
  is	
  

	
  
	
  
	
  

-­‐½	
  v	
  =	
  <7,	
  -­‐4>	
  
	
  
	
  
	
  


